
            FORD  RAPTOR (2019-ON)

                         TOYOTA VIGO (2005-2011)

                         TOYOTA REVO (2012-ON)

            MITSUBISHI TRITON (2006-2018)

OPTION 4 WHEEL PART AND ACCESSORIES CO., LTD

       FITTING MANUAL

PRODUCT NAME : ROLL BAR  NEW MODEL

PART NO : OP 237-001

CAR MODEL :      FORD RANGER (2012-ON)



Page 1/3

                         FORD  RAPTOR (2019-ON)

                             MITSUBISHI TRITON (2006-2018)

PART LIST

PRODUCT NAME : ROLL BAR  NEW MODEL

SUITE TO VEHICLE :  FORD RANGER (2012-ON)

                         TOYOTA VIGO (2005-2011)

                       TOYOTA REVO (2012-ON)

1 2 3

4 5 6

7

BASS ROLL BAR 

2 Pcs.(L+R)
BASS ROLL BAR TOP 2 Pcs.(L+R)

BRACKET 2 Pcs. (L+R) GUARD 2 Pcs. GUARD 2 Pcs.

GUARD 2 Pcs.

BASS ROLL BAR TOP 1 Pcs.



  MITSUBISHI TRITON (2006-2018)

Page 2/3

FITTING INSTRUCTION

PRODUCT NAME :    ROLL BAR  NEW MODEL
SUITE TO VEHICLE   FORD RANGER (2012-ON)

 TOYOTA VIGO (2005-2011)
TOYOTA REVO (2012-ON)

FORD  RAPTOR (2019-ON)

7

1 4

2

5

6

3



                            TOYOTA VIGO (2005-2011)

NO. PICTURE NAME QTY UNIT NOTE

M6x1.0x20 30 Pcs.

WASHERS M6 30 Pcs.

FLANG NUT M6 30 Pcs.

2 M10x1.5x30 12 Pcs.

3 BK 12 Pcs.

M10x1.25x20 8 Pcs.

Washers M10 28 Pcs.

Sping Washers M10 8 Pcs.

Flange nut M10x1.25 8 Pcs.

5 RIVET M10 12 Pcs.

M8x1.25x20 8 Pcs.

Washers M8 16 Pcs.

Flange nut M8x1.25 8 Pcs.

Page 3/3

6

PART LIST

1

4

PRODUCT NAME :    ROLL BAR  NEW MODEL
SUITE TO VEHICLE    FORD RANGER (2012-ON)

                            TOYOTA REVO (2012-ON)

         FORD  RAPTOR (2019-ON)

       MITSUBISHI TRITON (2006-2018)


